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General Instructions : 

Preparatory Course in General Mathematics (Revised) (OMT -101) 	Questions 1 - 50 

(i) This is an objective type question paper. Options for the correct answer must be 

marked only in OMR sheet. 

(ii) All questions are compulsory. 

(iii) The question paper consists of 50 questions each of which carries one mark. 

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your 

correct alternative /answer below the corresponding question number in the OMR sheet 

and then mark the rectangle for the same number in that column. If you find that none 

of the given alternatives is correct then write 0 and mark in column 0. 

(v) Do not waste time in reading the whole question paper. Go on solving questions one by 

one. You may come back to the left out questions, if you have time at the end. 

(vi) Use of calculators is not allowed. 
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1. The Roman numeral for 40 is 

2. 

3. 

(1) XXXX (2) XXXL 

(3) XL (4) 30(L 

The HCF of 112 and 36 is 

(1) 2 (2) 4 

(3) 	9 

The sum of all integers from - 5 to 5 is 

(4) 12 

(1) 30 (2) 1 

(3) 

5- 
2  

0 

is equal to 

(4) 10 

(1) 270' (2) 300' 

(3) 330' (4) 350' 

5. An observation that occurs, in a given data, most frequently is called 

4. 

(1) frequency 

(3) median 

6. V4+ Vird = 

(1) 2 

(3) 6 

7. 1 hectare = 

(2) mean 

(4) mode 

(2) 4 

(4) 8 

km2 

	

(1) 10 	 (2) 100 

	

1 	 1 

	

(3) 
10 	 (4) 

100 

8. The solution of the equation x 
5 

 + 3 
= 2x is 

(1) x = - 3 

(3) x= 6 

OMT-101 
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1. 40* iC.R 	tit•auch 

(1) XXXX 

(3) XL 

2. 112 34K 36 	1W1 11 	et) (HCF) 

(1) 2 

(3) 9 

3. — 54 5 	1:1111 Tret0air *TP:EF 

(1) 30 

(3) 0 

(2) XXXL 

(4) XXL 

(2) 4 

(4) 12 

4. 5
1° emelt t 
2 

(1) 27 ' 	 (2) 300' 

(3) 330' 	 (4) 350' 

5. 3E1 k.Tur 	AI 641 -ft.R 	31-1---4114 Tr-44 34 41K aTraT t, 	ct) 

(1) littiltdi 	 (2) ITT954 

(3) 11 	 (4) 

6. + VT6 = 

(1) 2 	 (2) 4 

(3) 6 	 (4) 8 

7. 1 tQz1T = 	1W2. 

(1) 10 	 (2) 100 

(3) —
1 	 1 

(4) 
10 	 100 

	 + 3 
8. ti 	

x 5 
chtui 	= 2x W* 

(1) x = — 3 

(3) x= 6 
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9. If one-third of one-fourth of a number is 15, then three-fourth of that number is 

(1) 	35 	 (2) 	36 

(3) 	135 	 (4) 	180 

10. Which of the following is a prime number ? 

(1) 	1 (2) 47 

(3) 	39 (4) 49 

11. The angle between the hands of a clock at 8 : 30 pm is 

(1) 	right (2) acute 

(3) 	reflex (4) obtuse 

12. 0.005 x 0.2 = 

(1) 	0.0001 (2) 0.001 

(3) 	0.01 (4) 01000 

13. The value of the expression (8 –2  — 3 –1 ) x —30  is 
3 	5 	41 ) 

(1) 	1 (2) 2 

(3) 	3 (4) 4 

14. A quadrilateral with opposite sides equal and one angle as a right-angle is a 

(1) 	square (2) rhombus 

(3) 	rectangle (4) trapezium 

15. The volume of a cuboid with length 	alb, breadth -3-2  ab and height a2  is 

(1) –2 a 5b 2 
3 

1 
(3) 3 – a

5 
 b 

(2) –1 a 4 b 2 
3 

(4) –1 a 5b  2 
3 
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9. i1 	Wt:ft 	 WA21-14   15 t, t 3r W9411 Alq-A9-nt 

(1) 35 
	

(2) 36 

(3) 135 
	

(4) 180 

10. -H11 	CI -4 411-1:ft 	titAI 

(1) 1 
	

(2) 47 

(3) 39 
	

(4) 49 

11. 8 : 30 -4' ti *1 g-p4 4 cb 	t 

(1) wig) ui 

(3) TR ct, 

   

(2) -eki cb u 

(4) aifir- ailu1 

12. 0.005 x 0.2 = 

(1) 0.0001 
	

(2) 0.001 

(3) 0.01 
	

(4) 0.1000 

13. ceoich 3 -1 x 	WI:1Ft 
3 	5 41 

(1) 1 	 (2) 2 

(3) 3 	 (4) 4 

14. -NTIA Tfripi ig-ATA mosice WT T  cr>lui     t I 

(1) ari 
	

(2) ITTI 

(3) 3TT 
	

(4) t1li(1 61 

15. rieni —1 
 a

lb, 
' 

(1) —
2 a

5b2 	 (2) —
1 a4b2 

3 	 3 

(3) —a
5 

 b 	 (4) —
1 a5b 2 1 

3 	 3 
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16. 2!+3! i
s 

0! 

(1) not defined 	 (2) 5 

(3) 8 	 (4) 6 

17. 5x is equal to 

(1) 5 + x 	 (2) x+x+x+x+x 
(3) 53( 

(4) xxxxxxxxx 

18. Sarika wants to make a square shaped collage. If the length of a side of the collage is 
a natural number, which one of the following could be the area of the collage ? 

(1) 24 	 (2) 32 

(3) 56 	 (4) 64 

8 	3 	4 	1 19. If — – 	+ 	= ❑ x 	then the number in the ❑ is 11 	11 	11 	11 

(1) 1 	 (2) 5 

(3) 7 	 (4) 9 

20. Suman earns T180, if she works for 3 days. How much will she earn if she works for 
2 days ? 

(1) 	90 	 (2) 	60 
(3) 	120 	 (4) 	100 

2 	3 

21. 3 3 	2 i x 3 is equal to 

13 

(1) 3 6  

5 

(2) 3 6  

(3) 6 

(4) 3 
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16.
2!.+3!t 

 0! 

(1) ElitiTIfifff Tel 

(3) 8 

17. 5x ATT4I t 

(1) 5 + x 

(3) 5X 

(2) 5 

(4) 6 

(2) x+x+x+x+x 

(4) xxxxxxxxx 

18. tiachi 	l i glifmic i'Achten aMI 	f1 t I zlitI 	ic, ii *t TAT *I 	tIRTut 	t, 

qi-•ARgi 4 4 VRATt 

(1) 24 

(3) 56 

19. _../04  8 	3 ± 4 

(IIC  11 	11 	ii 

(1) 1 

(3) 7 

20. 13:R 180 Wirdt t, zdk 3 itR—WTI 4)4 t rzft 2 t4 WIT 1-41 t, 

WKTft ? 

(1) t 90 	 (2) 	60 

(3) Z 120 	 (4) t 100 

2 	3 

21. 3 3  x 3 2  WT4K 

13 

(1) 3 6  

5 

(2) 3 6 

(3) 6 

(4) 3 
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(2) 32 

(4) 64 

1 
x  if' El* 34.4  

(2) 5 

(4) 9 



22. 	If 57.13 x 21 = 119.973, then 5.713 x 0.21 = 

(1) 119.973 

(2) 1F9973 

(3) 119973 

(4) 0119973 

23. 

24. 

25. 

In a box the number of 25 paise coins are five times the number of 50 paise coins. If 
there are a total of 120 coins, then the amount in the box is 

(1) 	T 35 	 (2) 	T 10 

(3) 	T 25 	 (4) 	T 40 

If 21 x (— 36) + A x 46 = 21(— 36 + 46), then the value of A is 

(1) 	36 	 (2) 	21 

(3) 	— 21 	 (4) 	— 46 

120 + 3 x 5 = 

(1) 200 

(2) 8 

(3) 100 

(4) 16 

26. The distance between the points (— 1, — 1) and (— 5, — 5) is 

(1) 2 li 

(2) 4 ../ 

(3) 8 

(4) 6 

OMT-101 	 10 



22. At 5713 x 	= 119.973, t 5-713 x 0.21 = 

(1) 119.973 

(2) 11.9973 

(3) 119973 

(4) 0119973 

23. -cr-  4f411.14 25 tR4 	tiEn .    50 44 	At titgel 	I Al.  5 Tit I zA 414ii art 

120 fi4 t, <4'14H 3i--q 	wuRr t 

(1) 	35 

(3) 	25 

(2) 	Z'10 

(4) 	Z 40 

24. zA 21 x (- 36) + A x 46 = 21(- 36 + 46), A 	-1' 1:11-4 

(1) 	36 (2) 	21 

(3) 	- 21 (4) 	- 46 

25. 120 +3 x 5= 

(1) 200 

(2) 8 

(3) 100 

(4) 16 

26. 	reks311(-1,-1)*(-5,-5)*AtqttOt 

(1) 2-5 

(2) 

(3) 8 

(4) 6 
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27. How many rotational symmetries does a square have ? 

(1) 1 

(2) 2 

(3) 3 

(4) 4 

28. Which of the following cannot be the sides of a right triangle ? 

(1) 3, 4, 5 
	

(2) 5, 12, 13 

(3) 6, 8, 10 
	

(4) 5, 6, 7 

29. The degree of the polynomial x2y2z2  + xyz + x3  + x4y is 

(1) 6 	 (2) 5 

(3) 4 	 (4) 3 

30. Median of the data 10, 12, 9, 7, 11, 16 is 

(1) 7.5 

(2) 10 

(3) 10.5 

(4) 8 

31. The coefficient of x3  in (x — 4)4  is 

(1) — 256 
	

(2) — 16 

(3) 32 
	

(4) — 32 

32. The slope of the line 2x + y = 1 is 

(1) — 2 

(2) 2 

(3) 

(4) 

1 

2 

3 
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27. 	-44 4 -W-d-41—EkuVq ki4.1 	I 	? 

(1) 1 

(2) 2 

(3) 3 

(4) 4 

28.  t Twef ? f•1+-1fMfisia 4 	cb ,i2kft ui f i' 

(1) 	3, 4, 5 (2) 5, 12, 13 

(3) 	6, 8, 10 (4) 5, 6, 7 

29. wqcrq  x2y2z2 + xyz + x3  + x4y tic t 

(1) 	6 (2) 

(3) 	4 (4) 3 

30. 31-4-41 	10, 12, 9, 7, 11, 16 Ai 

(1) 7.5 

(2) 10 

(3) 10.5 

(4) 8 

31.  (x — 4)4  4 x3  t 

(1) — 256 (2) —16 

(3) 32 (4) — 32 

32.  (gi 2x + y=1 

(1) - 2 

(2) 2 

1 
(3) 

2 

1 
(4) 

3 
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33. If the first and last terms of an AP are 2 and 198 respectively and the sum of its 

terms is 4000, then the number of terms of the AP is 

34.  

35.  

(1) 	20 	 (2) 	30 

(3) 	40 	 (4) 	80 

The number 4.296024 rounded to 2 decimal places is 

(1) 	4.29 	 (2) 	4.30 

(3) 	4.28 	 (4) 	4.20 

How many points lie on the circle given in the following figure ? 

36.  

(1) 	7 	 (2) 	5 

(3) 	3 	 (4) 	2 

If each side of a cube is doubled, then its volume becomes 

(1) 2 times (2) 4 times 

(3) 6 times (4) 8 times 

37.  The sum of the angles of a pentagon is 

(1) 360° (2) 430° 

(3) 540° (4) 720° 

38.  Which of the following needs a proof ? 

(1) A definition (2) An axiom 

(3) A postulate (4) A theorem 

OMT-101 	 14 



33. zit WA' 	312M 3k aifdgr Trq ols-141: 2 31) 198 t W4T *m41 IT -41 	*Ma 

4000', wiidt 4:41 * 11-41*1' W.911 

(1) 20 (2) 30 

(3) 40 (4) 80 

34. mtgeli 4.296024 	 2 t-xim 	"(71N-4" rota trK titn.0-41•1Zret 

	

(1) 4.29 
	

(2) 4.30 

	

(3) 4.28 
	

(4) 4.20 

35. Pi-iroriga 	4 	1.R 	fk.'No ? 

(1) 7 	 (2) 5 

(3) 3 	 (4) 2 

36. /A 641 1ER *1 m(44) 1 -AT goi 	Ren qTR, 	aTrzraq Aim t 

(1) 2 TT 	 (2) 47T 

(3) 67T 	 (4) 8 TT 

37. 1i-41F* et) ui .  *FM 	t 

(1) 360° 
	

(2) 430° 

(3) 540° 
	

(4) 720° 

38. 1 1-1 oNa 4 	14.) 31-1 (a 	̀.31te‘td 

(1) 	tribTitfl 
	

(2) 	alliTUTPTT 

(3) 	aTkerd 
	

(4) T311:14 
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39. The number of line segments in the following figure is 

A 

D C 

(2) 9 

(4) 6 

40. Any point lying on the x-axis is of the form 

(1) (x, 0) 
	

(2) (0, y) 

(3) (1, y) 
	

(4) (x, 1) 

41. If the probability of occurrence of an event is p, then the probability of not occurrence 

of this event is 

(1) p 
	

(2) p — 1 

(3) 1 — p 
	 (4) 1 — —

1 

42. Which one of the following is not a conic section ? 

(1) Parabola 

(2) Ellipse 

(3) Hyperbola 

(4) Square 

43. If C(n, 5) = C(n, 7), then the value of n is 

(1) 	— 1 (2) 35 

(3) 	11 (4) 12 

44. The 6th  term of the GP , 3, 3-fd ... is 

(1) 	39 + 131-3-  (2) 13 -■,/ 

(3) 	27 (4) 81 

OMT-101 
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39. 4-i 

	

	 ligrAgus* 	itgell 

A 

40. x-aRi tit rk-'44ci 	 vct 

(1) (x, 0) 

(3) (1, y) 

(2) 9 

(4) 6 

(2) (0, y) 

(4) (x, 1) 

41. zlit ftlitsr-C4T t4 *It 	iIcboipt 	tre3T "k 3 t4 	541 	t 

(1) p (2) p - 1 

(3) 1 - p (4) 1 - —
1 

p 

42. Ai-ifZiRsid 	Aq.-Trr 	7T-f- tritQq 7t ? 

(1) TR4F4 

(2) tEir 

(3) alif 

(4) alf 

(2) 35 

(4) 12 

3/3-  ... fW1 3-4 t 

(2) 13/3 

(4) 81 

17 

43.-zrt , C(n, 5) = C(n, 7) t, c n 313 t 

(1) - 1 

(3) 11 

44. 774w 0 , 3, 

(1) 39 + 13 V -3- 

 (3) 27 
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45. If P(A) = 100 , P(B) = 100 and P(A fl 	

100 
B) = 	, then P(A U B) = 

(1) 
7 

100 

20  

100 

(2) 
53 

100 

13 
(3) (4) 

100 

46. By selling a coat for 1,200, a shopkeeper gains 20%. The cost price of the coat is 

(1) 	800 
	

(2) 	900 

(3) 	1,000 
	

(4) 	1,100 

47. The dimension of a quadrilateral is 

(1) 1 
	

(2) 2 

(3) 3 
	

(4) 4 

48. Raghu borrowed a sum of 10,000 from Renu for 3 years. If Renu charges 8% simple 

interest per annum, how much will Raghu have to pay after 3 years ? 

(1) 	10,240 
	

(2) 	10,420 

(3) 	12,200 
	

(4) 	12,400 

49. The number of faces of a tetrahedron is 

(1) 2 
	

(2) 3 

(3) 4 
	

(4) 5 

50. The symbolic form of the statement 

"Five times a number subtracted from three times of its square" is 

(1) x2  - 5x 

(2) 5x - x2  

(3) 3x2  - 5x 

(4) 5x - 3x2  

OMT-101 	 18 



(4) 
13 

100 

(2) 2 

(4) 4 

49. -agtkhoa,*tb---d-4 	(4(.9441 

(1) 2 

(3) 4 

(2) 3 

(4) 5 

45. i1 P(A) = 
5  ) 

 P(
B) = 

10 _A_ 
P(A n B) = —2  #, 	P(A U B) = 

1(0 	—100 	 100 

(1) 
7 

100 

(3) 
20 

100 

1,200 4 
(1) 800 

(3) 1,000 

-crT zt 1 	it tth 

46. 

47. 

48. Tj 41--114 3 Wirc 	I 	10,000 31.1R TC.1 I el 1-1 8% .444 0:qm At 714 TfTxTRul 

r~c~ #,cTn 	3  	uquftr 	6141 ? 
(1) 	10,240 	 (2) 	10,420 

(3) 	12,200 	 (4) 	12,400 

50. W2T4 "t, t1&21I 5T 	Ti 	I ZU t9e1 	I   44 	d 11 I " 	mcfichiciich vcr 

(1) x2  — 5x 

(2) 5x – x2  

(3) 3x2  – 5x 

(4) 5x – 3x2  
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53 
(2) 

100 

"T schfrigit 	20%WFri-T 	# I ch)d. 

(2) 	900 

(4) 	1,100 
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